Upper-intermediate level English listening exercise
LONDON’S CLUE TO STUBBORN OZONE LEVELS
1. Tick the information given in the recording. You will get 2 points for each correct answer. There are 4 correct answers. You will hear the recording three times.
a. Ozone pollutants provoke people not to follow their routine.
b. The principal originating source is the emissions from trees.
c. Summer months are generally worse for 03.
d. The ratio of two NOx gases in the atmosphere has not changed in Europe.
e. The diesel filters have been retrofitting on to buses.
f. Scientists foresee we will probably see a reduction of NO2 in the long term.
g. If London Government reduced pollution locally, it would be the solution for the rest of Europe.



KEY
Upper-intermediate level English listening exercise
LONDON’S CLUE TO STUBBORN OZONE LEVELS
1. Tick the information given in the recording. You will get 2 points for each correct answer. There are 4 correct answers. You will hear the recording three times.
a. Ozone pollutants provoke people not to follow their routine.
b. The principal originating source is the emissions from trees.
c. Summer months are generally worse for 03.
d. The ratio of two NOx gases in the atmosphere has not changed in Europe.
e. The diesel filters have been retrofitting on to buses.
f. Scientists foresee we will probably see a reduction of NO2 in the long term.
g. If London Government reduced pollution locally, it would be the solution for the rest of Europe.


